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��$%%������	��� (
����� �
��������� �	
�������� 
����� �
�	
��������� ������� � � )	�� �
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����� #����
	 � ��

	�	�� � �
���������� �	��	�	� ���� �	����	 B(·) ���	�����	� *��	�	�� �������
��� ��
������ �������	�� � �
�	
�������� �������� ������� 
 ������� ��&�� ���	 ��� ��� �
	���
�	 ��$%%�������� *��	�	��� ��� ���� ������	� �
�	
����	� ������	 ẋ = A(t)x + B(t)u� x ∈ R

n�
u ∈ R

m� � ��������� ���	�������� �	������ B(·) �	
������� 

���� �
�	
����	 
 ������ �	��	�
�	� �� ��� �� �� ��������� � ������	���� ���	�������� m × n��	������� %������ Q(·) ������	
ẋ = (A(t) +B(t)Q(t))x +B(t)u �	
������� 

���� �
�	
����	 
� �	��	���

�������� ��	�
+ ������	� �
�	
����	� ������	� �	
������	� 
���	� �
�	
���������

� �� 
���������� � �������� � !�"#���"$ �"��"$ %�� !���#"&��

����� R
n � ����� !�! �"!��"#$���! "#%&�"$!��� n � $!"&!' |x| =

√
xTx (T � !��"#)

*�+ �"#$��!$�"!�#$�+ ����!"# ��� &#�"�*
,- e1, . . . , en � �#$!$�.����' !"�!$!"&�"!�#$)
$
' /#%�� � R

n- Mn,m � �"!��"#$���! ��0�����$$
1 n × m)&#�"�* (���� m = n� �! ��2�&
Mn, �! �����"#��$!' $!"&!' |A| = max

|x|=1
|Ax|- I = [e1, . . . , en] ∈ Mn � � �$�.$#+ &#�"�)

*#- SpA � ��� ��# "#�$!' &#�"�*
 A- Lp(Δ) = Lp(Δ,X) � �"!��"#$���! 3�/�4# �%&�"�)
&
1 5�$�*�' G : Δ → X� 4 � p = 1, 2� Δ = [α, β]� X = Mn,m ��� X = R

n� �#��1� .�!∫ β

α
|G(t)|p dt < ∞ (&$!6����! X � %#���� !����#�&� ���� �% �!$�����# �!$+�$!� �#�!� !$!,-

Lloc
p (Ω,X) := {G : Ω → X : G

∣∣
Δ

∈ Lp(Δ,X) ∀Δ = [α, β] ⊂ Ω} � �"!��"#$���! �!�#��$! ��&)

&�"��&
1 5�$�*�' $# Ω ⊂ R �! �����$�7 p (p = 1, 2)- ‖G‖Lp(Δ) :=

(∫ β

α
|G(t)|p dt

)1/p

� $!"&#

5�$�*�� G ∈ Lp(Δ,X) (p = 1, 2, (&$!6����! Δ � %#���� !����#�&� ���� �% �!$�����# �!$+�$!�
�#�!� !$!,- ‖F‖C(Ω) := sup{|F (t)| : t ∈ Ω} � 89:)$!"&# 5�$�*�� F � %# #$$!' $# Ω ⊂ R �!

%$#.�$�+&� � R
n ��� � Mn,m(R)� ��# "#��.$�7 5!"&� V (x) = xTQx� x ∈ R

n� !�!6 �����+�&
� ��&&��"�.���!' &#�"�*�' Q = QT ∈ Mn� �� %# #70�'� ;�"#��$���# Q > (�, <,�)P  �+ ��&)
&��"�.����1 &#�"�* Q,P �!$�&#7��+ � �&
��� ��# "#��.$
1 5!"&� <#���� b := a � a = : b
!%$#.#7�� .�! =��&�$�� b �"���#��#���+ %$#.�$�� a (�! ���� b �! !�"� ���$�7 "#�$! a,�

>#��&!�"�& ��$�'$�7 ��"#��+�&�7 �����&�

ẋ = A(t)x+B(t)u, t ∈ R, x ∈ R
n, u ∈ R

m. (	,

�"� �!�#4#�&� .�! A ∈ Lloc
1 (R,Mn), B ∈ Lloc

1 (R,Mn,m)� � �#.����� ��"#���$�' � �����&� (	,
/� �& "#��&#�"��#�� �%&�"�&
� �! 3�/�4� 5�$�*�� u : Ω → R

m (Ω ⊂ R � �"!&�6��!�, �#����
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.�! Bu ∈ Lloc
1 (Ω,Rn)� �"� �#��1 ���!��+1 "�2�$�� %# #.� �!2�

ẋ = A(t)x+B(t)u(t), (�,

x(t0) = x0 (@,

��0�������  �+ �7/!4! (t0, x0) ∈ Ω×R
n� � �$����$$!� !�"� ���$! �"� ���1 t ∈ Ω� � =�! "�2�$��

+��+���+ #/�!�7�$! $��"�"
�$!' 5�$�*��' A	� �� �B�C�
D/!%$#.�& .�"�% X(t, s) &#�"�*� �!2� ��!/! $!' �����&


ẋ = A(t)x, (E,

�! ���� "�2�$�� &#�"�.$!' %# #.� �!2� Ẋ = A(t)X� X(s) = I� I ∈ Mn� F�# 5�$�*�+ +�)
�+���+ #/�!�7�$! $��"�"
�$!' �! �#6 !' ��"�&�$$!'� ��� �!!�$!2�$�+ &�6 � �%&�"�&
&�
5�$�*�+&� /� �& �"� �!�#4#�� �
�!�$+70�&��+ �!.�� ��7 � (�� ��,�


���������� � (>� �#�&#$ A�C- ;�;� �"#�!����' A@� G� 	@?C,� H����&# (	, $#%
�#���+I
������ ���	��
���� �	 �
����� [t0, t0 + ϑ]� ����  �+ �#6 !4! x0 ∈ R

n $#' ���+ ��"#���$��
u : [t0, t0 + ϑ] → R

m �#�!�� .�! "�2�$�� x(·) %# #.� �!2� (�,� (@, � !�����!"+�� "#��$����

x(t0 + ϑ) = 0; (
,

������ ���	��
����� ����  �+ �#6 !4! t0 ∈ R $#' ���+ ϑ > 0 �#�!�� .�! �����&# (	, ��!�$�
��"#��+�&# $# [t0, t0 + ϑ]�

>�2�$�� %# #.� �!2� (�,� (@, �&��� �� 

x(t) = X(t, t0)
(
x0 +

∫ t

t0

X(t0, s)B(s)u(s) ds
)
. (�,

�!=�!&� ���!��� (
, ���.�� "#��$���!

x0 = −
∫ t0+ϑ

t0

X(t0, s)B(s)u(s) ds. (�,

F�! !%$#.#��� .�! �����&# (	, ��!�$� ��"#��+�&# $# [t0, t0 +ϑ] �!4 # � �!���! �!4 #� �!4 #  �+
�7/!4! x0 ∈ R

n $#' ���+ ��"#���$�� u(·)� �!�!"!� !/����.��#�� "#��$���! (�,�

' #�( ��� �� � #��&��!��.���!' ��!"�� ��$�'$
1 �����& �"# �*�!$$! "#��&#�"��#7��+
�����&
 �� # (	, � (���!.$!, $��"�"
�$
&� �!=55�*��$�#&�� �"� =�!& � ����"#��"� ��#%
�#)
���+� .�! =�� ���!��+ $# �!=55�*��$�
 &!6$! !��#/���� < ��� &
� � .#��$!���� !��0�����+�&
=�! !��#/��$��I &
 �!�#%
�#�&� .�!  �+ $��!�!"
1 �%����$
1 "�%����#�!� &!6$! !��#/��� =��
���!��+ � $#��!���!�

�"� �!�!6�&� .�! B ∈ Lloc
2 (R,Mn,m)� �!4 # �!""���$! !�"� ���$# ��&&��"�.���#+ n× n)

&#�"�*#

W (t0, t1) :=

∫ t1

t0

X(t0, s)B(s)BT (s)XT (t0, s) ds.

�� $#%
�#7� �	
����� ���	��
����
� (�	
����� �	��	�	) �����&
 (	, $# !�"�%�� [t0, t1]�
��+ ��+�!4! ����!"# h ∈ R

n ��"#�� ���! �!!�$!2�$��

hTW (t0, t0 + ϑ)h =

∫ t0+ϑ

t0

hTX(t0, s)B(s)BT (s)XT (t0, s)hds =

∫ t0+ϑ

t0

|hTX(t0, s)B(s)|2 ds. (?,

H�� !�#����$!� &#�"�*#W (t0, t0+ϑ) +��+���+ $�!�"�*#����$! !�"� ���$$!'� H�� �70�� �"� )
�!6�$�� 1!"!2! �%����$!�



�"���"�� "#�$!&�"$!' �!�$!' ��"#��+�&!��� ��$�'$!' �����&
 	
�

���������� ��	
� �� �
� �
�� �


����")���� �� ��������� �
��������
 �����	���
���

1. ���
��	 (	, ������ ���	��
��	 �	 Δ = [t0, t0 + ϑ]�
2. �
���� �	
���� X(t0, t)B(t) ������� ���	������ �	 Δ�

3. �	
���	 W (t0, t0 + ϑ) ������
����� ���������	�

� ! � # % # � � � � � � � !� (2 =⇒ 3)� ����� &#�"�*# W (t0, t0+ϑ) $� +��+���+ �!�!6�����$!
!�"� ���$$!'� �!4 # ��0������� ����!" h ∈ R

n� h 
= 0� �#�!'� .�! hTW (t0, t0 + ϑ)h = 0� �%
"#��$���# (?, ��� ���� .�!

hTX(t0, t)B(t) ≡ 0 ( �+ �� ��, t ∈ [t0, t0 + ϑ]. (�,

F�! !%$#.#��� .�! ��"!�� &#�"�*
 X(t0, t)B(t) ��$�'$! %#����&
 $# Δ�
(1 =⇒ 2)� ����� ��"!�� &#�"�*
 X(t0, t)B(t) ��$�'$! %#����&
 $# Δ� �!4 # ��0�������

����!" h ∈ R
n� h 
= 0� �#�!'� .�! �
�!�$�$! "#��$���! (�,� �!��!���� �����&# (	, ��!�$�

��"#��+�&# $# Δ� � ���� 5!"&��
 (�,  �+ ����!"# h $#' ���+ ��"#���$�� û(t)� t ∈ Δ� �#�!��
.�!

h = −
∫ t0+ϑ

t0

X(t0, s)B(s)û(s) ds. (	�,

�&$!6#+ "#��$���! (	�, ����# $# hT � �.��
�#+ (�,� �!��.#�& hTh = 0� �"!���!"�.���
(3 =⇒ 1)� ����� &#�"�*# W (t0, t0 + ϑ) �!�!6�����$! !�"� ���$#� ��� !�#����$!� $��
"!6)

 �$$#� �!4 #  �+ �7/!4! x0 ∈ R
n ��"#���$��

u(t) = −BT (t)XT (t0, t)W
−1(t0, t0 + ϑ)x0, t ∈ Δ,

!/����.��#�� "#��$���! (�,� <$#.��� �����&# (	, ��!�$� ��"#��+�&# $# Δ� �
;#�!&$�&� .�! &#�"�*# A(·) $#%
�#���+ ��
���	���� ���	�������� �	 R AE� �� �
�C� ����

sup
t∈R

∫ t+1

t
|A(s)| ds � a < ∞. (		,

J�$!� .�! � (		, �"!&�6��!� �$��4"�"!�#$�+ [t, t+1] &!6$! %#&�$��� $# �7/!'  "�4!' [t, t+ϑ]�
4 � ϑ > 0�


���������� * (>� �#�&#$ A�C,� H����&# (	, $#%
�#���+I
�	�������� ������ ���	��
����� ���� $#' ���+ ϑ > 0 � αi = αi(ϑ) > 0� i = 1, 2, 3, 4� �#���� .�!
 �+ ���1 τ ∈ R �
�!�$�$
 $�"#��$���#

0 < α1I � W (τ, τ + ϑ) � α2I, (	�,

0 < α3I � X(τ + ϑ, τ)W (τ, τ + ϑ)XT (τ + ϑ, τ) � α4I; (	@,

ϑ �	�������� ������ ���	��
����� ���� (	, "#�$!&�"$! ��!�$� ��"#��+�&# $# !�"�%�#1  ��)
$
 ϑ� �� �� ��0�����7� αi = αi(ϑ) > 0� i = 1, 2, 3, 4� �#���� .�!  �+ ���1 τ ∈ R �
�!�$�$

$�"#��$���# (	�,� (	@,�

' #�( ��� *� �#�&#$ � A�C  #�� !�"� ���$�� �	��������� ������ ���	��
����
�� $! $�
 #�� !� ���$! !�"� ���$�� ϑ �	��������� ������ ���	��
����
�� F�! �!$+��� /
�! �
 ���$!
H�;� �!�!�!' � A
C�

;��!�"� ����$$! �% !�"� ���$�+ � �
���#�� ��� �70�� �"� �!6�$���


����")���� * (>� �#�&#$ A�C,� !��
� ���
��	 (	, ϑ �	�������� ������ ���	��
��	� "� 

��	#

(a) �����
���
 δi = δi(ϑ) > 0$ i = 1, 4$ 
	���$ �
� ��
 ��%��� τ ∈ R ��������� ���������

���	����
�	#

δ1 � |X(τ + ϑ, τ)| � δ2, δ3 � |X(τ, τ + ϑ)| � δ4; (	E,

(b) ���
��	 (	, 2ϑ �	�������� ������ ���	��
��	&

(c) ���
��	 (	, ϑ1 �	�������� ������ ���	��
��	 ��
 ��%��� ϑ1 � ϑ�



	�� ���� <#'*��

���������� ��	
� �� �
� �
�� �

�"!&� �!4!� �&��� &���! ��� �70�� �"� �!6�$���


����")���� +� !��
� ���
��	 (	, ϑ �	�������� ������ ���	��
��	 (� ������ ������ 

����
 2)� "���	#

(d) �����
���
 γ = γ(ϑ) > 0 
	���$ �
� ��
 ��%�' t, s 
	��'$ �
� |t− s| � ϑ$ ���������

���	����
��

|X(t, s)| � γ; (	
,

(e) �	
���	 B(·) ��
���	���� ���	�����	 �	 R � ��	��	
�� �����$ 
� ��

sup
t∈R

∫ t+1

t
|B(s)|2 ds � b2 < ∞. (	�,

H�!'���! (d) �"� �!6�$�+ @ /� �& $#%
�#�� �"!��! �����
��� (d)�
��+ �����&
 (	, � ���!.$! $��"�"
�$
&� � !4"#$�.�$$
&� $# R &#�"�.$
&� �!=55�*�)

�$�#&� ��3� �!$�!�  !�#%#� ��� �70�' �"���"�' "#�$!&�"$!' �!�$!' ��"#��+�&!����

��"��# � (��3� �!$�!� A�� �C,� !��
� ���((�����
� A(·)$ B(·) ������� ���������� �

���	������ �	 R� ���
��	 (	, ϑ �	�������� ������ ���	��
��	 
���	 � 
����� 
���	$ �� 

��	 �����
���
 l > 0 
	���$ �
� ��
 �	���' t0 ∈ R � x0 ∈ R
n �	���
�
 ������� �����������

���	������ u : Δ → R
m$ Δ = [t0, t0 + ϑ]$ ������
���
���� ������ ‖u‖C(Δ) � l|x0| � �%������ 

�	���� ��
 ��)���
 �	�	�� ��)� (�,$ (@, ���������� �	����
�	 (
,�

�!�#%#�������! ��!"�&
 	 �"��� �$! � A�C � � "#/!�� A?� ��!"�&# 
�	C� �#��& !/"#%!&� ���!���
��!"�&
 	 &!6$! �!�!6��� � !�$!�� !�"� ���$�+ "#�$!&�"$!' �!�$!' ��"#��+�&!���� �"�
=�!& ���!��� ���!.$!' $��"�"
�$!��� � !4"#$�.�$$!��� &#�"�* A(·)� B(·) &!6$! !��#/���  !
���!��+ �%&�"�&!��� � �$��4"#��$!' !4"#$�.�$$!���� H5!"&���"��& ��� �70�� !�"� ���$���


���������� +� (��3� �!$�!� A�C, ����� �!=55�*��$�
 A(·)� B(·) �����&
 (	, �$��4"#��$!
!4"#$�.�$
 $# R� H����&# (	, $#%
�#���+I
ϑ �	�������� ������ ���	��
����� ���� ��0������� l > 0 �#�!�� .�!  �+ �#6 
1 t0 ∈ R �
x0 ∈ R

n $#' ���+ �%&�"�&!� ��"#���$�� u : Δ → R
m� Δ = [t0, t0 + ϑ]� � !�����!"+70�� !*�$��

‖u‖C(Δ) � l|x0| � !/����.��#70��  �+ "�2�$�+ %# #.� �!2� (�,� (@, �
�!�$�$�� "#��$���# (
,-
�	�������� ������ ���	��
����� ���� ��0������� ϑ > 0 �#�!�� .�! �����&# (	, "#�$!&�"$!
��!�$� ��"#��+�&#�

� ��� �70�1 ��!"�&#1 � � @ ��!"�&# 	 "#��"!��"#$+���+ $# �����&
 � �!=55�*��$�#&�
/!��� !/0�4! ���#� � $�1 ���#$#����#���+ �%#�&!��+%� &�6 � !�"� ���$�+&� "#�$!&�"$!'
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��#�� +� ����� n = m = 1- A(t) ≡ 0- B(t) = 1� t < 1- B(t) = χ[n,n+1/n)(t)� t ∈ [n, n + 1)�
n ∈ Z� 4 � χE(t) � 1#"#���"����.���#+ 5�$�*�+ &$!6����# E� ����� ϑ = 1� �!�!6�& l1 = 1�
����� %# #$
 �"!�%�!��$
� t0 ∈ R � x0 ∈ R

n� ���� t0 < 1� �! ��"#���$�� u(t) = (−1) · x0�
t ∈ Δ = [t0, t0 + 1]� !/����.��#�� �
�!�$�$�� "#��$���# (�,� �"� =�!& ‖u‖L1(Δ) = |x0| � l1|x0|�
����� t0 � 1� � ����� t0 ∈ [n, n+ 1)� n ∈ N� �!4 # �!�#4#�&

���� t0 ∈
[
n, n+

1

n+ 1

)
, �!

u(t) =

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

−nx0, t ∈
[
t0, n+

1

n

)
,

0, t ∈
[
n+

1

n
, n+ 1

)
,

−nx0, t ∈ [n+ 1, t0 + 1);

���� t0 ∈
[
n+

1

n+ 1
, n+ 1

)
, �!

u(t) =

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

0, t ∈ [t0, n+ 1),

−(n+ 1)x0, t ∈
[
n+ 1, n + 1 +

1

n+ 1

)
,

0, t ∈
[
n+ 1 +

1

n+ 1
, t0 + 1

]
.

�!6$! �"!��"���� .�! ‖u‖L1(Δ) = |x0| � l1|x0| � u(t)� t ∈ Δ� !/����.��#�� �
�!�$�$�� "#��$)
���# (�,� H�� !�#����$!�  �+ �����&
 �
�!�$�$! ��!'���! G(ϑ)� ����� ϑ ∈ N � �"!�%�!��$!�
%# #$$!� .���!� ��+ �7/!4! τ ∈ N �&��&

W (τ, τ + ϑ) =

∫ τ+ϑ

τ
b2(t) dt =

1

τ
+

1

τ + 1
+ . . .+

1

τ + ϑ− 1
� ϑ

τ
→ 0 �"� τ → ∞.



	�E ���� <#'*��

���������� ��	
� �� �
� �
�� �

H�� !�#����$!� $�"#��$���! α1I � W (τ, τ + ϑ) � (	�, $� �
�!�$�$! $�  �+ �#�!4! ϑ� # � ����
��!'���# (c) �"� �!6�$�+ � $�  �+ �#�!4! ϑ > 0� �!=�!&� �����&# $� +��+���+ ϑ)"#�$!&�"$!
��!�$� ��"#��+�&!' �! �#�&#$�� �

���� /
 ����"6 �$�� 	 /
�! ��"$!� �! �% ��!"�&
 	� � ����"6 �$�+ 	 &!6$! /
�! /

 !�#%#�� ��� �70�� ����"6 �$�� (#$#�!4�.$! �!&�� �#� ��!"�&# �  !�#%
�#���+ �% ��!"�& ��
?� �&�  #��� M �,�

��"��# ��� !��
� �	
���	 B(·) ���	�����	 �	 R � ���
��	 (	, ϑ �	�������� ������

���	��
��	 � ������ ����������
 4� "���	 ��
 ��%�� ��������� �� +�%���$ ��
���	���� ���	 

�������� (������ Q : R → Mm,n ���
��	 (��, ϑ �	�������� ������ ���	��
��	 � ������

����������
 4�

;!� �!��!���� ����"6 �$�� 	 $���"$!�  !�#%#�� ��!"�&� 		 � �!&!0�7 $�4! $���%+� ��& $�
&�$�� ��!"�&# 		 ��"$# �  !�#%#�������! /� �� �"!�� �$!  "�4�& ��!�!/!&� � ���� ��� ����+ �
��!'���! ϑ)"#�$!&�"$!' �!�$!' ��"#��+�&!��� � �&
��� !�"� ���$�+ E � ��!"�&� 		 &!6$!
%#&�$��� (� � �!�
���� � � %#��7.�$��, $# ��!'���! ϑ)"#�$!&�"$!' �!�$!' ��"#��+�&!���
� �&
��� �#�&#$#�

�"� �!6�$�+ @� E � ��!"�&
 E� 
� �� �� ?� �� 		 /� ��  !�#%#$
 � M ��

� !/0�& ���.#� !�"� ���$�+ �� @ � E $� �!��# #7�� �"�&�"
� �!�#%
�#70�� �1 "#%��.���
/� ��  #$
 � M ��

' #�( ��� +� H�0�������  "�4!� !�"� ���$��� $� �	��������� ������ ���	��
����
��
# �	��������� ���	��
����
� (�&� N�O� PQRSTUVLW� X� Y� OTLZ[\8 A�B		C,� F�� !�"� ���$�+
$�%#����&
 &�6 � �!/!'� !$� $���� "#%��.$
' �&
�� � �"�&�$+7��+  �+ "�2�$�+ "#%)
$
1 %# #.� �!��"!�& &#�"�*
 P0(t) = B(t)� Pk(t) = −A(t)Pk−1(t) + Ṗk−1(t)� k = 1, n− 1�
Q(t) = [P0(t), P1(t), . . . , Pn−1(t)]� �"� �!�#4#�&� .�! $�!/1! �&
� �"!�%�! $
� ��0�����7�� ��)
�� "#$4 &#�"�*
 Q(t) � $��!�!"!' �!.�� α ∈ (t0, t1) "#��$ n� �! (�&� A@� G� 	E?C, �����&# (	,
��!�$� ��"#��+�&# $# !�"�%�� [τ0, τ1] � α� H����&# (	, $#%�#$# �	�������� ���	��
���� �	

��
���	�� (t0, t1) A		C� ���� "#$4 &#�"�*
 "#��$ n  �+ ���1 t ∈ (t0, t1)� < ��� �$��"�#� (t0, t1)
&!6�� /
�� � �!$�.$
&� J�$!� .�! �!4 # �����&# $� +��+���+ �	�������� ������ ���	��
�����
H  "�4!' ��!"!$
� � !�"� ���$�� A		C $�!/1! �&! �"�/����+  !��#�!.$#+ 4�# �!��� �!=55�)
*��$�!�� � �! �"�&+ �#� � !�"� ���$�+1 �� @ � E !$# $� �"�/����+� H!!��������$$!� �����&#�
� !�����!"+70#+ (�7/!&�, !�"� ���$�7 "#�$!&�"$!' �!�$!' ��"#��+�&!���� &!6�� $� /
��
"#�$!&�"$! ��"#��+�&!' � �&
��� A		C� � $#!/!"!�� D�"� ���$�� A		C �"�&�$+���+  �+ "�2�$�+
%# #.� �"��� �$�+ �����&
 (	, � �#$!$�.���!&� �� �� =����#��$�$!&�  �55�"�$*�#��$!&�
�"#�$�$�7 (! $!&� ��� $���!����&,� � .#��$!���� =�! ��!'���! ���!��%����+ � "#/!�#1 A	��	@C�
�  #$$!' "#/!�� !�"� ���$�� "#�$!&�"$!' ��"#��+�&!��� A		C $� ���!��%����+�

' #�( ��� ,� H�!'���! "#�$!&�"$!' �!�$!' ��"#��+�&!��� �����&
 (	, �4"#�� ��7.���7
"!�� � %# #.#1 �!�#��$!4! � 4�!/#��$!4! ��"#���$�+ #��&��!��.����&� �$�#"�#$�#&� �����)
&


ẋ = (A(t) +B(t)U(t))x, x ∈ R
n, (�@,

%#&�$��!' �! �"�$*��� ��$�'$!' !/"#�$!' ��+%� u = U(t)x (�&� "#/!�
 A
B?� 	EB�?� @�B@�C,�
� .#��$!��� � %# #.#1 ��#/���%#*�� �����&
 (�@,� �"� =�!& ���� �!=55�*��$�
 �����&
 (	,
� !�����!"+7� ��2� ���!��+& (�	,� $! ���!��� (	�, $� �
�!�$�$!� �! !�"� ���$��& � �#�&#$#
�!��%!�#���+ $���%+- &!6$! �!��%!�#���+ !�"� ���$�+&� @ ��� E� <# #.� ��"#���$�+ #��&��!)
��.����&� �$�#"�#$�#&� �����&
 (�@, � �!=55�*��$�#&�� � !�����!"+70�&� ���!��+& (�	,�
����� !�#� ���� �!%�!� A@�C�



�"���"�� "#�$!&�"$!' �!�$!' ��"#��+�&!��� ��$�'$!' �����&
 	�


���������� ��	
� �� �
� �
�� �

� *� 3"� 4 ���5&�! ��"67"��#87 � �"&� �"(�87 %&�"!�$ � !�"#���"$ �"��"$
%�� !���#"&��

;#�!&$�&� .�! !��"#�!"$#+ $!"&# |A| = max
|x|=1

|Ax| &#�"�*
 A ∈ Mn,m �!��# #�� �
√

Λ(ATA)�

4 � Λ(ATA) � $#�/!��2�� �!/����$$!� %$#.�$�� &#�"�*
 ATA A@@� �� @
�B@
?C� � .�! |AT | = |A|
A@@� G� �	C�

�!�#6�& �"� �!6�$�� @� ��+ =�!4! �"� �#"�����$!  !�#6�& ���!&!4#����$
� ����"6 �)
$�+�

��## �� !��
� W � 0� "���	 W � αI ⇐⇒ |W | � α�

�!�#%#�������! ��&&
 	 �"��! ���+ � A@E� ��&&# �C�

��## *� !��
� X,W ∈ Mn$ 0 < αI � W � XWXT � βI� "���	 |X| � √
β/α�

� ! � # % # � � � � � � � !� |X|2 = |XT |2 = max
|h|=1

(hTXXTh) =
1

α
max
|h|=1

(hTX(αI)XT h) �

� 1

α
max
|h|=1

(hTXWXTh) � β

α
. �

����� Δ = [τ, τ + ϑ]� G : Δ → Mn,m� G := {gij}� i = 1, n� j = 1,m�

��## +� ���
��)���� G ∈ Lp(Δ,Mn,m) (p = 1, 2) �	��������� ���
��)���
� gij ∈
∈ Lp(Δ,R)$ i = 1, n$ j = 1,m& ��� �
�� ����
 ���
� ���	����
�	

‖G‖2L2
�

n∑
i=1

m∑
j=1

‖gij‖2L2
� m‖G‖2L2

, (�E,

‖gij‖L1 �
√
m‖G‖L1 , ‖G‖L1 �

n∑
i=1

m∑
j=1

‖gij‖L1 . (�
,

� ! � # % # � � � � � � � !� �!��"!�& &#�"�*� GT (s)G(s)� �"� �#6 !& s ∈ Δ =�# &#�"�*#
��&&��"�.���#+� $�!�"�*#����$! !�"� ���$$#+� �� �!/����$$
� %$#.�$�+ ��0�����$$
� � $�!�)
"�*#����$
�I 0 � λ1(s) � . . . � λm(s)� ����� Λ(s) � =�! $#�/!��2�� �!/����$$!� %$#.�$�� =�!'
&#�"�*
� �! ���� Λ(s) = λm(s)� �&��� &���! $�"#��$���!

0 � Λ(s) � λ1(s) + . . .+ λm(s) = Sp(GT (s)G(s)) =
∑
i,j

g2ij(s) � mΛ(s). (��,

�&��&

∫
Δ
|G(s)|2 ds =

∫
Δ
Λ(s) ds� �!=�!&� �% $�"#��$���# (��, �
���#�� �"�/��&!� ����"6 �$��

�"� p = 2� �$��4"�"�+ $�"#��$���! (��, �! �"!&�6���� Δ� �!��.#�& $�"#��$���# (�E,�
�#���� !.��� $
 $�"#��$���#

|gij(s)| �
(∑

i,j

g2ij(s)
)1/2

�
√

mΛ(s),
√

Λ(s) �
(∑

i,j

g2ij(s)
)1/2

�
∑
i,j

|gij(s)|. (��,

�&��&

∫
Δ
|G(s)| ds =

∫
Δ

√
Λ(s) ds� �!=�!&� �% $�"#��$��� (��, �!��.#�& �"�/��&!� ����"6 �$��

 �+ p = 1� �$��4"�"�+ $�"#��$���# (��, �! �"!&�6���� Δ� �!��.#�& $�"#��$���# (�
,� �

����&�!�� .� ���
��)���� G∈ L2(Δ,Mn,m) �	��������� ���
��)���� GGT ∈ L1(Δ,Mn)&
��� �
�� ����
 ���
� ���	����
��

‖GGT ‖L1 � ‖G‖2L2
� n

√
n‖GGT ‖L1 . (�?,



	�� ���� <#'*��

���������� ��	
� �� �
� �
�� �

� ! � # % # � � � � � � � !� (=⇒,�

∫
Δ
|G(s)GT (s)| ds �

∫
Δ
|G(s)||GT (s)| ds =

∫
Δ
|G(s)|2 ds�

(⇐=,� ����� F (s) = G(s)GT (s) � F ∈ L1(Δ,Mn)� �!4 # �% ��"�!4! $�"#��$���# (�
, ��� ����

.�! ‖fii‖L1 � √
n‖F‖L1 � i = 1, n� �&��& fii(s) =

m∑
j=1

g2ij(s)� H�� !�#����$!�

∫
Δ

m∑
j=1

g2ij(s) ds �

� √
n‖F‖L1 � i = 1, n� �!=�!&�

n∑
i=1

m∑
j=1

∫
Δ
g2ij(s) ds � n

√
n‖F‖L1 � �.��
�#+ ��"�!� $�"#��$���!

� (�E,� �!��.#�& ��!"!� $�"#��$���! � (�?,� �

��## ,� ���
��)���� G ∈ L2(Δ,Mn,m) �	��������� ���	����
��∫
Δ
G(s)GT (s) ds � αI (��,

� ������ ��	��	
����' (���& ��� �
�� ����
 ���
� ���	����
�	∫
Δ
G(s)GT (s) ds � I‖G‖2L2

, ‖G‖2L2
� nα. (@�,

� ! � # % # � � � � � � � !� (=⇒,� ����� G ∈ L2(Δ,Mn,m)� �!4 #  �+ �7/!4! h ∈ R
n� |h| = 1�

�&��&

hT ·
∫
Δ
G(s)GT (s) ds · h =

∫
Δ
|GT (s)h|2 ds �

∫
Δ
|GT (s)|2|h|2 ds �

∫
Δ
|GT (s)|2 ds = ‖G‖2L2

.

D��7 # ��� �7� ��"�#+ .#��� ����"6 �$�+ � ���!� $�"#��$���! � (@�,�
(⇐=,� ����� �
�!�$�$! (��,� H�� !�#����$!�  �+ �7/!4! h ∈ R

n� |h| = 1� �&��&∫
Δ
hTG(s)GT (s)hds � α. (@	,

��+ �#6 !4! i = 1, n �!�!6�& h = ei ∈ R
n � (@	,� �!��.�& α �

∫
Δ
eTi G(s)GT (s)ei ds =

=

∫
Δ

m∑
j=1

g2ij(s) ds� D��7 # ��� ���� .�! nα �
n∑

i=1

m∑
j=1

∫
Δ
g2ij(s) ds� �.��
�#+ ��"�!� $�"#��$���!

� (�E,� �!��.#�& ��!"�7 .#��� ����"6 �$�+ � �"#�!� $�"#��$���! � (@�,� �

��## -� !��
� ��
 ��%��� ���
��	 h ∈ R
n ��������� ���	����
��∫

Δ
|hTG(s)| ds � β|h|. (@�,

"���	 G ∈ L1(Δ,Mn,m) � ‖G‖L1 � n
√
mβ�

� ! � # % # � � � � � � � !� ��+ �#6 !4! i = 1, n �!�!6�& h = ei ∈ R
n � (@�,� �!��.�&

β �
∫
Δ
|eTi G(s)| ds =

∫
Δ

( m∑
j=1

g2ij(s)
)1/2

ds �
∫
Δ

1√
m

m∑
j=1

|gij(s)| ds� H�&&�"�+ =�� $�"#��$���#

�! i = 1, n � �.��
�#+ ��!"!� $�"#��$���! � (�
,� �!��.#�&

n
√
mβ �

n∑
i=1

m∑
j=1

∫
Δ
|gij(s)| ds =

n∑
i=1

m∑
j=1

‖gij‖L1 � ‖G‖L1 . �

� ! � # % # � � � � � � � ! � " �  � ! 6 � $ � + @� ����� �����&# (	, ϑ)"#�$!&�"$! ��!)
�$� ��"#��+�&# � �&
��� �#�&#$#� �!4 # � ���� ��!'���# (c) �"� �!6�$�+ � &!6$! �.��#��
/�% !4"#$�.�$�+ !/0$!���� .�! ϑ � 1� �!4 # �
�!�$�$
 $�"#��$���# (	�,� (	@,  �+ $��!�!"
1



�"���"�� "#�$!&�"$!' �!�$!' ��"#��+�&!��� ��$�'$!' �����&
 	��

���������� ��	
� �� �
� �
�� �

αi = αi(ϑ) > 0� i = 1, 4� H!4�#�$! �"� �!6�$�7 � �����&# (	, +��+���+ �#�6� 2ϑ)"#�$!&�"$!
��!�$� ��"#��+�&!'� H�� !�#����$!� ��0�����7� αi = αi(ϑ) > 0� i = 5, 6� �#���� .�!  �+ ���1
τ ∈ R �
�!�$�$
 $�"#��$���#

0 < α5I � W (τ, τ + 2ϑ) � α6I. (@@,

�"!&� �!4!� �
�!�$�$
 $�"#��$���# (	E,� ����� 0 � t− s � ϑ� �&��&

X(t, s)W (s, s + ϑ)XT (t, s) =

∫ s+ϑ

s
X(t, ζ)B(ζ)BT (ζ)XT (t, ζ) dζ �

�
∫ t+ϑ

t−ϑ
X(t, ζ)B(ζ)BT (ζ)XT (t, ζ) dζ = X(t, t− ϑ)W (t− ϑ, t+ ϑ)XT (t, t− ϑ) =: V (t, ϑ).

� ���� $�"#��$��� (	E,� (@@, � ��&&
 	 �&��& |V (t, ϑ)| � δ22α6� �! ��&&� 	 �!��.#�&� .�!
V (t, ϑ) � δ22α6I. H�� !�#����$!�

X(t, s)W (s, s+ ϑ)XT (t, s) � δ22α6I.

D��7 # � �% $�"#��$���# (	�, �! ��&&� � �!��.#�&� .�! |X(t, s)| �
√

δ22α6/α1 =: γ1� �#����

0 < α1I � W (t, t+ ϑ) = X(t, s)

∫ t+ϑ

t
X(s, ζ)B(ζ)BT (ζ)XT (s, ζ) dζ XT (t, s) �

� X(t, s)

∫ s+2ϑ

s
X(s, ζ)B(ζ)BT (ζ)XT (s, ζ) dζ XT (t, s) = X(t, s)W (s, s + 2ϑ)XT (t, s).

(@E,

�% (@E, � (@@, �&��&

X(s, t)W (t, t+ ϑ)XT (s, t) � W (s, s+ 2ϑ) � α6I.

�! ��&&� � �!��.#�&� .�! |X(s, t)| �
√

α6/α1 =: γ2� �!�#4#+ γ := max{γ1, γ2}� �!��.#�&
�"�/��&!� $�"#��$���! (	
,�

�!�#6�& ��$�� (e)� �% $�"#��$���# (	�, ��� ���� .�!  �+ ��+�!4! τ ∈ R �
�!�$�$! $�"#��$)
���! (��,� 4 � G(s) = X(τ, s)B(s)� Δ = [τ, τ+ϑ]�  �+ α = α2� 4 � α2 $� %#����� !� τ � �!4 # � ����
��&&
 E �
�!�$�$! $�"#��$���! nα2 � ‖G‖2L2

� ����"�� ���!��%�+ ��� ����� � � �"� �!6�$�� @
(��$�� (d),� �!��.#�&� .�!  �+ �7/!4! τ ∈ R∫ τ+ϑ

τ
|B(s)|2 ds = ‖B‖2L2

� n
√
n‖BBT‖L1 = n

√
n

∫ τ+ϑ

τ
|B(s)BT (s)| ds �

� n
√
n

∫ τ+ϑ

τ
|X(s, τ)||X(τ, s)B(s)BT (s)XT (τ, s)||XT (s, τ)| ds � n

√
nγ2‖GGT ‖L1 �

� n
√
nγ2‖G‖2L2

� n2√nγ2α2 =: b0.

< ��� b0 = b0(ϑ) $� %#����� !� τ � �!��!���� ϑ � 1� $�"#��$���! (	�, �
�!�$�$! �"� b2 := b0�
�"� �!6�$�� @  !�#%#$!� �

� ! � # % # � � � � � � � ! � " �  � ! 6 � $ � + E� (a) >#��&!�"�& �"!�%�!��$
' ����!"
g ∈ R

n� g 
= 0� �!�!6�& h = XT (τ + ϑ, τ)g � �! ��#��& � (	�,� �!��.�& $�"#��$���!

0 < β1|XT (τ + ϑ, τ)g| �
∫ τ+ϑ

τ
|gTX(τ + ϑ, s)B(s)| ds � β2|XT (τ + ϑ, τ)g|. (@
,

�% $�"#��$���# (��, �"� h = g � (@
, �!��.#�& $�"#��$���#

β1|XT (τ + ϑ, τ)g| � β4|g|, β3|g| � β2|XT (τ + ϑ, τ)g|. (@�,

�% (@�, �!��.#�& $�"#��$���# β3/β2 � |XT (τ + ϑ, τ)| � β4/β1� �#� �#� g 
= 0 � �7/!'� �#��&
!/"#%!&� ���!� ( �!'$!�, $�"#��$���! � (	E, �
�!�$�$! �"� δ1 := β3/β2� δ2 := β4/β1�



	�? ���� <#'*��

���������� ��	
� �� �
� �
�� �

�#���� �!�#4#+ h = XT (τ, τ + ϑ)g� 4 � g ∈ R
n� g 
= 0� �! ��#��++ � (��, � "#���6 #+

#$#�!4�.$!� �!��.�& �"#�!� ( �!'$!�, $�"#��$���! � (	E, �"� δ3 := β1/β4� δ4 := β2/β3�

(b) �"� ��#��& J :=

∫ τ+2ϑ

τ
|hTX(τ, s)B(s)| ds � �� � J = J1 + J2� 4 �

J1 :=

∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds, J2 :=

∫ τ+2ϑ

τ+ϑ
|hTX(τ, s)B(s)| ds.

�&��& J1 � β1|h|� J2 � 0� ��� !�#����$!� J � β1|h|� �#���� J1 � β2|h|� �!�!6�& h = XT (τ +
+ ϑ, τ)g � J2� �!��.�&

J2=

∫ τ+2ϑ

τ+ϑ
|gTX(τ + ϑ, s)B(s)| ds � β2|g| = β2|XT (τ, τ + ϑ)h| � β2|XT (τ, τ + ϑ)||h| � β2δ4|h|.

H�� !�#����$!� J � β2(1 + δ4)|h|� �$#�!4�.$!  !�#%
�#���+ $�"#��$���!

β3|h| �
∫ τ+2ϑ

τ
|hTX(τ + 2ϑ, s)B(s)| ds � β4(1 + δ2)|h|.

� �!!/0�� "#���6 #+ #$#�!4�.$!� &!6$! �!�#%#��� .�! �
�!�$�$
 $�"#��$���#

β
(k)
1 |h| �

∫ τ+kϑ

τ
|hTX(τ, s)B(s)| ds � β

(k)
2 |h|, (@�,

β
(k)
3 |h| �

∫ τ+kϑ

τ
|hTX(τ + kϑ, s)B(s)| ds � β

(k)
4 |h|, (@?,

4 � β
(k)
1 := β1� β

(k)
2 := β2(1 + δ4 + . . . + δk−1

4 )� β
(k)
3 := β3� β

(k)
4 := β4(1 + δ2 + . . . + δk−1

2 )� �� ��
�����&# (	, !/�# #�� ��!'���!& H(kϑ)  �+ �7/!4! k ∈ N�

(c) ��+ �7/!4! ϑ1 � ϑ ��0������� k ∈ N �#�!�� .�! kϑ � ϑ1 < (k + 1)ϑ� �% $�"#��$��� (@�,�
(@?, �
���#7� $�"#��$���#

β
(k)
1 |h| �

∫ τ+ϑ1

τ
|hTX(τ, s)B(s)| ds � β

(k+1)
2 |h|,

β
(k)
3 |h| �

∫ τ+ϑ1

τ
|hTX(τ + ϑ1, s)B(s)| ds � β

(k+1)
4 |h|,

�% �!�!"
1 ��� ��� ��!'���! H(ϑ1)  �+ �����&
 (	,�

(d) ����� 0 � t− s � ϑ� �&��&

β1|XT (t, s)h| �
∫ s+ϑ

s
|hTX(t, s)X(s, ζ)B(ζ)| dζ �

∫ t+ϑ

t−ϑ
|hTX(t, ζ)B(ζ)| dζ =

=

∣∣∣∣f = XT (t, t− ϑ)h

∣∣∣∣ =
∫ t+ϑ

t−ϑ
|fTX(t− ϑ, ζ)B(ζ)| dζ � β

(2)
2 |f | � β

(2)
2 δ2|h|.

�!��!���� ����!" h ∈ R
n �"!�%�!��$
'� !��7 # ��� ���� .�! |XT (t, s)| � β

(2)
2 δ2/β1 =: γ1�

�#����

β1|XT (s, t)g| �
∫ t+ϑ

t
|gTX(s, t)X(t, ζ)B(ζ)| dζ �

∫ s+2ϑ

s
|gTX(s, ζ)B(ζ)| dζ � β

(2)
2 |g|.

�!��!���� ����!" g ∈ R
n �"!�%�!��$
'� !��7 # ��� ���� .�! |XT (s, t)| � β

(2)
2 /β1 =: γ2� �!�#4#+

γ := max{γ1, γ2} � �.��
�#+ "#��$���! |X| = |XT |� �!��.#�& �"�/��&!� $�"#��$���! (	
,�



�"���"�� "#�$!&�"$!' �!�$!' ��"#��+�&!��� ��$�'$!' �����&
 	��

���������� ��	
� �� �
� �
�� �

(f) >#��&!�"�& &#�"�*� G(s) = X(τ, s)B(s)� s ∈ Δ = [τ, τ +ϑ]� ���!��%�+ $�"#��$���! (	
,�
�"#�!� $�"#��$���! (	�, � ��&&� 
 �"� β = β2� �!��.#�&∫ τ+ϑ

τ
|B(s)| ds =

∫ τ+ϑ

τ
|X(s, τ)X(τ, s)B(s)| ds �

�
∫ τ+ϑ

τ
|X(s, τ)||G(s)| ds � γ‖G‖L1 � γβ2n

√
m =: b0.

< ��� b0 = b0(ϑ) $� %#����� !� τ � �#��& !/"#%!&� &#�"�*# B(·) �$��4"#��$! !4"#$�.�$#� �"� )
�!6�$�� E  !�#%#$!� �

' #�( ��� -� D.��� $# ��� �70#+ =����#��$�$#+ 5!"&���"!��# !�"� ���$�+ EI �����)
&# (	, �%�	�	�
 �����
��� H(ϑ)� ���� ��0�����7� βi = βi(ϑ) > 0� i = 1, 2, 3, 4� �#���� .�!  �+
�7/!4! τ ∈ R �  �+ �7/!4! ����!"L h ∈ R

n �#�!4!� .�! |h| = 1� �
�!�$�$
 $�"#��$���#

β1 �
∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds � β2, (@�,

β3 �
∫ τ+ϑ

τ
|hTX(τ + ϑ, s)B(s)| ds � β4. (E�,

��"�' �& �  !�#%#�������� ��!"�&
 E� �!�#6�& �"� �#"�����$! ���!&!4#����$
� ����")
6 �$�+�

��## .� !��
� �	
���	 A(·) ��
���	���� ���	�����	� "���	 ��
 �	
���� ��)� ��� 

%����� ���
��� (E, ��������� �����
�� (d)�

� ! � # % # � � � � � � � !� ����� �
�!�$�$! $�"#��$���! (		,� � ����� 0 � t − s � ϑ� �!
5!"&��� �!2� �&��&

X(t, s) = I +

∫ t

s
A(ζ)X(ζ, s) dζ, X(s, t) = I −

∫ t

s
A(ζ)X(ζ, t) dζ =⇒

|X(t, s)| � 1 +

∫ t

s
|A(ζ)||X(ζ, s)| dζ, |X(s, t)| � 1 +

∫ t

s
|A(ζ)||X(ζ, t)| dζ.

�% $�"#��$���# ]"!$�!��#BK���&#$# A@�� �� 	�?C ��� �7� $�"#��$���#

|X(t, s)| � exp
( ∫ t

s
|A(ζ)| dζ

)
� e(ϑ+1)a, |X(s, t)| � exp

( ∫ t

s
|A(ζ)| dζ

)
� e(ϑ+1)a.

�#��& !/"#%!&� $�"#��$���! (	
, �
�!�$�$! �"� γ = e(ϑ+1)a� �

��## /� !��
� ���
��	 (	, ϑ �	�������� ������ ���	��
��	 � ������ ����������
 4�
"���	 �����
���
 b3 = b3(ϑ) > 0 
	���$ �
�

sup
τ∈R

∫ τ+ϑ

τ
|X(τ, s)B(s)| ds � b3 < ∞.

�!�#%#�������! �
���#�� �% �"#�!4! $�"#��$���# (	�, � ��&&
 
I � �#.����� b3 &!6$! �%+��
b3 := n

√
mβ2�

� ! � # % # � � � � � � � ! � � ! " � & 
 E� ����� �
�!�$�$
 ���!��+ (�	,�
; � ! / 1 !  � & ! � � �� �!�#6�&� .�! ��0������� β1 > 0 �#�!�� .�!  �+ �7/!4! τ ∈ R �  �+
�7/!4! h ∈ R

n �#�!4!� .�! |h| = 1� �
�!�$�$! $�"#��$���!

β1 �
∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds. (E	,



	�� ���� <#'*��

���������� ��	
� �� �
� �
�� �

�"� �!�!6�& �"!���$!�� �!4 #  �+ �7/!4! k ∈ N ��0�����7� τk ∈ R � hk ∈ R
n� |hk| = 1�

�#���� .�! ∫ τk+ϑ

τk

|hTkX(τk, s)B(s)| ds <
1

k
. (E�,

�!��!���� �����&# (	, ϑ)"#�$!&�"$! ��!�$� ��"#��+�&# � �&
��� !�"� ���$�+ @� �! ��0�����)
�� l > 0 �#�!�� .�!  �+ xk0 = −hk $# !�"�%�� Δk = [τk, τk + ϑ] $#' ���+ �%&�"�&!� ��"#���$��
uk(·)� �!�!"!� ��"��! �� �����&� (	, �% �!��!+$�+ x(τk) = xk0 � �!��!+$�� x(τk + ϑ) = 0 � � !)
�����!"+�� $�"#��$���� ‖uk‖C(Δk) � l|xk0| = l� H�� !�#����$!�  �+ =�!4! ��"#���$�+ �
�!�$�$!
�!!�$!2�$�� ∫ τk+ϑ

τk

X(τk, s)B(s)uk(s) ds = −xk0.

�&$!6#+ =�! "#��$���! ����# $# ��"!�� hTk � �!��.�&

1 = |hTk (−xk0)| =
∣∣∣∣
∫ τk+ϑ

τk

hTkX(τk, s)B(s)uk(s) ds

∣∣∣∣ �
∫ τk+ϑ

τk

|hTkX(τk, s)B(s)uk(s)| ds �

�
∫ τk+ϑ

τk

|hTkX(τk, s)B(s)| · |uk(s)| ds � l

∫ τk+ϑ

τk

|hTkX(τk, s)B(s)| ds < l

k
→ 0 �"� k → ∞.

�"!���!"�.��� H�� !�#����$!� ���!� $�"#��$���! � (@�,  !�#%#$!�
�#����  �+ �7/!4! h ∈ R

n �#�!4!� .�! |h| = 1� � ���� $�"#��$��� (�	, � ��&&
 � �&��&

∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds �

∫ τ+ϑ

τ
|hT ||X(τ, s)||B(s)| ds � γb1(ϑ+ 1) = e(ϑ+1)ab1(ϑ + 1) =: β2.

�#��& !/"#%!&� $�"#��$���# (@�,  !�#%#$
�
�#���� #$#�!4�.$!�  �+ �7/!4! h ∈ R

n �#�!4!� .�! |h| = 1� � ���� $�"#��$��� (�	, � ��&&
 �
�&��& ∫ τ+ϑ

τ
|hTX(τ + ϑ, s)B(s)| ds � γb(ϑ+ 1) = e(ϑ+1)ab1(ϑ+ 1) =: β4.

�!�#6�& ���!� $�"#��$���! � (E�,� ����� %# #$
 �"!�%�!��$!� τ ∈ R � ����!" g ∈ R
n �#�!'�

.�! |g| = 1� �!��"!�& h = XT (τ + ϑ, τ)g� � ���� ��&&
 � �&��&

1 = |g| = |XT (τ, τ + ϑ)h| � |XT (τ, τ + ϑ)||h| � γ|h|, (E@,

��� !�#����$!� |h| � 1/γ = e−(ϑ+1)a� � ����  !�#%#$$
1 $�"#��$��� (@�, (�� ��� !�#����$!� (	�,,
�&��& ∫ τ+ϑ

τ
|gTX(τ + ϑ, s)B(s)| ds =

∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds � β1|h| � β1e

−(ϑ+1)a =: β3.

H�� !�#����$!� $�"#��$���# (E�,  !�#%#$
� �#��& !/"#%!&� $�!/1! �&!��� � ��!"�&� E  !�#%#)
$#�

� ! � � # � ! . $ ! � � �� ��+  !�#%#�������# ��� ��� �"!����� "#���6 �$�+� �!�!"
� �!��!)
"+7�  !�#%#�������! �&����#*�� 2 =⇒ 1 � ��!"�&� 	 A@
C � �&����#*�� 2 =⇒ 1 � ��!"�&� � A@
C�
�"� =�!&  !�#%#�������� ���!��%����+ ��� ����� @ A@
C- �&���! $�4! ��� ��� �!��!��%!�#���+
�"��� �$$!' % ��� ��&&!' �� ��!"�&#  !�#%#$#� �

� ! � # % # � � � � � � � ! � � ! " � & 
 
� ����� �
�!�$�$! ���!��� (	�,� �"� �!�!6�&�
.�! �����&# (	, !/�# #�� ��!'���!& H(ϑ)� �!4 # �
�!�$�$! H�!'���! (d) � ���� �"� �!6�$�+ E�
����� %# #$
 �"!�%�!��$
� τ ∈ R � ����!" h ∈ R

n �#�!'� .�! |h| = 1� ���!��%�+ H�!'���! (d)
� ���!��� (	�,� �!��.#�& $�"#��$���!

hTW (τ, τ + ϑ)h =

∫ τ+ϑ

τ
|hTX(τ, s)B(s)|2 ds � γ2

∫ τ+ϑ

τ
|B(s)|2 ds � γ2(ϑ + 1)b2 =: α2. (EE,



�"���"�� "#�$!&�"$!' �!�$!' ��"#��+�&!��� ��$�'$!' �����&
 	�	

���������� ��	
� �� �
� �
�� �

�$#�!4�.$!�
hTX(τ + ϑ, τ)W (τ, τ + ϑ)XT (τ + ϑ, τ)h � γ2(ϑ+ 1)b2 =: α4. (E
,

� ���� $�"#��$���# K�$+�!���!4! �&��&

hTW (τ, τ + ϑ)h =

∫ τ+ϑ

τ
|hTX(τ, s)B(s)|2 ds � 1

ϑ

(∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds

)2
� |β1|2

ϑ
=: α1.

�$#�!4�.$!� hTX(τ + ϑ, τ)W (τ, τ + ϑ)XT (τ + ϑ, τ)h � |β3|2
ϑ

=: α3� �#��& !/"#%!&� $�"#��$���#

(	�,� (	@, �
�!�$�$
� ��!"�&# 
  !�#%#$#� �
� ! � # % # � � � � � � � ! � � ! " � & 
 �� ����� ‖B‖C(R) � b� �"� �!�!6�&� .�! �����&# (	,

ϑ)"#�$!&�"$! ��!�$� ��"#��+�&# �! �#�&#$�� � ���� �"� �!6�$�+ @ �
�!�$�$! H�!'���! (d)�
�!4 # �!��.#�& ��� �70�� $�"#��$���#  �+ �7/!4! τ ∈ R � �7/!4! h ∈ R

n �#�!4!� .�! |h| = 1I∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds � γbϑ =: β2,

∫ τ+ϑ

τ
|hTX(τ + ϑ, s)B(s)| ds � γbϑ =: β4.

�!�#6�&� .�! ��0������� β1^� �#�!�� .�!  �+ �7/!4! τ ∈ R �  �+ �7/!4! h ∈ R
n �#�!4!�

.�! |h| = 1� �
�!�$�$! $�"#��$���! (E	,� �"� �!�!6�& �"!���$!�� �!4 #  �+ �7/!4! k ∈ N

��0�����7� τk ∈ R � hk ∈ R
n� |hk| = 1� �#���� .�! �
�!�$�$! $�"#��$���! (E�,� �!4 # �&��&

α1 � hTkW (τk, τk + ϑ)hk =

∫ τk+ϑ

τk

|hTkX(τk, s)B(s)BT (s)XT (τk, s)hk| ds �

�
∫ τk+ϑ

τk

|hTkX(τk, s)B(s)||BT (s)||XT (τk, s)||hk| ds � bγ

∫ τk+ϑ

τk

|hTkX(τk, s)B(s)| ds <
bγ

k
→ 0

�"� k → ∞� �"!���!"�.��� �#��& !/"#%!&� $�"#��$���# (@�, (�� ��� !�#����$!� (	�,,  !�#%#$
�
�#���� ����� %# #$
 �"!�%�!��$!� τ ∈ R � ����!" g ∈ R

n �#�!'� .�! |g| = 1� �!��"!�&
h = XT (τ + ϑ, τ)g� H �.��!& H�!'���# (d) �&��& $�"#��$���# (E@,� ��� !�#����$!� |h| � 1/γ�
� ����  !�#%#$$
1 $�"#��$��� (@�, � (	�, �&��&∫ τ+ϑ

τ
|gTX(τ + ϑ, s)B(s)| ds =

∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds � β1|h| � β1/γ =: β3.

H�� !�#����$!� $�"#��$���# (E�,  !�#%#$
� ��!"�&# �  !�#%#$#� �


��#�� ,� ����� n = m = 1� A(t) ≡ 0� B(t) = q(t)� 4 � 5�$�*�+ q(t) !�"� ���$# ��� �70�&
!/"#%!&I q(t) ≡ 1 �"� t < 1- q(t) =

√
k �"� t ∈ [k, k+1/k)� k ∈ N- q(t) = 0 �"� !��#��$
1 t� �&�)

�& X(t, s) ≡ 1� �#����  �+ �7/!4! k ∈ N �&��& W (k, k + 1) =

∫ k+1

k
B2(t) dt =

∫ k+1/k

k
k dt = 1�

���� k ∈ Z � k � 0� �! �#�6� !.��� $! W (k, k + 1) = 1� �!4 #  �+ �7/!4! τ ∈ R �&�)
�& 1 = W ([τ ] + 1, [τ ] + 2) � W (τ, τ + 2) � W ([τ ], [τ ] + 3) = 3� �� �� �
�!�$�$
 $�"#��$���#
(	�, �"� ϑ = 2� D.��� $!� (	@, �#�6� �
�!�$�$
� �#��& !/"#%!&�  #$$#+ �����&# +��+���+
"#�$!&�"$! ��!�$� ��"#��+�&!' �! �#�&#$�� �"!��"�& $�"#��$���# (@�,� ����� |h| = 1� �!4 #∫ k+1

k
|hTX(k, s)B(s)| ds =

∫ k+1/k

k

√
k dt =

1√
k
�"� k ∈ N� �����  #$
 �"!�%�!��$!� *��!� .���!

ϑ > 0 � �7/!� β1 > 0� �
/�"�& τ ∈ N �#�!�� .�! τ > (ϑ/β1)
2� �!4 #∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds =

1√
τ
+ . . . +

1√
τ + ϑ− 1

<
ϑ√
τ
< β1.

H�� !�#����$!� ��!'���! H(ϑ) $� �
�!�$�$! $�  �+ �#�!4! *��!4! ϑ > 0� # � ���� ��!'���# (c)
�"� �!6�$�+ E� $�  �+ �#�!4! ϑ > 0� H�� !�#����$!�  #$$#+ �����&# $� +��+���+ "#�$!&�"$!
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��#�� -� n = m = 1- A(t) = 2t cos(t2)� t ∈ R- B(t) = p(t) �% �"�&�"# 	� �#$$#+ �����&# $�
� !�����!"+�� !�"� ���$�7 �� �!��!���� B(t) $� � !�����!"+�� $�!/1! �&!&� ���!��7 (	�,�
�#$$#+ �����&# $� � !�����!"+�� !�"� ���$�7 @� �!��!���� A(t) $� � !�����!"+�� $�!/1! �)
&!&� ���!��7 (		,� D $#�!  #$$#+ �����&# � !�����!"+�� !�"� ���$�7 E �"� ϑ = 1� ��'����)
����$!� �&��& e−2 � |X(t, s)| � e2  �+ �7/
1 t, s� �!=�!&� �"� |h| = 1  �+ �7/!4! τ ∈ R

�&��&

2e−2 = e−2

∫ 1

0

1√
s
ds �

∫ τ+1

τ
|hTX(τ, s)B(s)| ds � e2

∫ 1

0

1√
s
ds = 2e2,

��� !�#����$!� �
�!�$�$
 $�"#��$���# (@�,� ;�"#��$���# (E�, �#�6� �
�!�$�$
 �"� β3 = 2e−2�
β4 = 2e2� �

� ! � # % # � � � � � � � ! � � ! " � & 
 �� <#5����"��& �"!�%�!��$
� t0 ∈ R � x0 ∈ R
n�

�!��"!�& ��"#���$��

u(t) = −BT (t)XT (t0, t)W
−1(t0, t0 + ϑ)x0, t ∈ [t0, t0 + ϑ]. (E�,

�! ��#��& ��"#���$�� (E�, � 5!"&��� �!2� (�,� �!4 # �!��.�&� .�!

x(t0 + ϑ) = X(t0 + ϑ, t0)(x0 −W (t0, t0 + ϑ)W−1(t0, t0 + ϑ)x0) = 0.

H�� !�#����$!� "#��$���! (
, �
�!�$�$!� �!��!���� W T (t0, t0 + ϑ) = W (t0, t0 + ϑ) � α1I�
��� !�#����$!� (W−1(t0, t0+ϑ))T = W−1(t0, t0+ϑ) � α−1

1 I� �!=�!&� �&��& ��� �70�7 !*�$��
 �+ $!"&
 ��"#���$�+ (E�,I

‖u‖2L2(Δ) =

∫ t0+ϑ

t0

uT (t)u(t) dt =

=

∫ t0+ϑ

t0

xT0 W
−1(t0, t0 + ϑ)X(t0, t)B(t)BT (t)XT (t0, t)W

−1(t0, t0 + ϑ)x0 dt =

= xT0 W
−1(t0, t0 + ϑ)x0 � α−1

1 |x0|2.

�#��& !/"#%!&�  �+ l2 =
√

α−1
1 ��"#�� ���# �"�/��&#+ !*�$�#� ��!"�&#  !�#%#$#� �

� ! � # % # � � � � � � � ! � � ! " � & 
 ?� �!�#6�& $�"#��$���! α1I � W (τ, τ + ϑ)  �+
$��!�!"!4! α1 > 0  �+ ���1 τ ∈ R� �"� �!�!6�& �"!���$!�� �!4 #  �+ �7/!4! k ∈ N ��0�)

����7� τk ∈ R � hk ∈ R
n� |hk| = 1� �#���� .�! hTkW (τk, τk + ϑ)hTk <

1

k
� �! ���!��7 ��0�)

������ l2 > 0 �#�!�� .�!  �+ ��+�!4! ����!"# xk0 $# !�"�%�� Δk = [τk, τk + ϑ] $#' ���+ ��"#�)
��$�� uk ∈ L2(Δk,R

m)� �!�!"!� ��"��! �� �����&� (	, �% �!��!+$�+ x(τk) = xk0 � �!��!+$��
x(τk + ϑ) = 0 � � !�����!"+�� $�"#��$���� ‖uk‖L2(Δk) � l2|xk0 |� �!��"!�& �#�!� ��"#���$��

 �+ ����!"# xk0 = −hk �"� �#6 !& k ∈ N� H�� !�#����$!�  �+ =�!4! ��"#���$�+ �
�!�$�$

�!!�$!2�$�� ∫ τk+ϑ

τk

X(τk, s)B(s)uk(s) ds = −xk0 (E�,

� $�"#��$���! ‖uk‖L2(Δk) � l2� �&$!6#+ "#��$���! (E�, ����# $# ��"!�� hTk � �!��.�&

1 = |hTk (−xk0)| =
∣∣∣∣
∫ τk+ϑ

τk

hTkX(τk, s)B(s)uk(s) ds

∣∣∣∣ �
∫ τk+ϑ

τk

|hTkX(τk, s)B(s)||uk(s)| ds �

�
(∫ τk+ϑ

τk

|hTkX(τk, s)B(s)|2 ds
)1/2(∫ τk+ϑ

τk

|uk(s)|2 ds
)1/2

<
l2√
k
→ 0 �"� k → ∞.
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�#���� ���!��%�+ H�!'���! (d) � ���!��� (	�,�  �+ |h| = 1 �!��.#�& $�"#��$���# (EE, � (E
,�
�#��� � ���� ���!4! $�"#��$���# � (	�, �&��&

hTX(τ + ϑ, τ)W (τ, τ + ϑ)XT (τ + ϑ, τ)h � α1h
TX(τ + ϑ, τ)XT (τ + ϑ, τ)h =

= α1|XT (τ + ϑ, τ)h|2 � α1|h|2/γ2 =: α3|h|2.
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 � �"� �!2��& ��&&��

��## 0� !��
� ��
 �	
���� ��)� X(t, s) ���
��� ẋ = A(t)x ��������� �����
�� (d)
��
 ����
����� ϑ > 0$ � �	
���	 P (·) ��
���	���� ���	�����	 �	 R� "���	 ��
 �	
����

��)� XP (t, s) ���
��� ẋ = (A(t) + P (t))x 
	��� ��������� �����
�� (d) (��
 
��� ��

����	 ϑ > 0)�

� ! � # % # � � � � � � � !� ����� sup
t∈R

‖P‖L1([t,t+1]) � p� >#��&!�"�& &#�"�.$�7 5�$�*�7

Z(t, τ) = XP (t, τ)−X(t, τ)� �&��& Z(t, τ)
∣∣
t=τ

= 0�

d

dt
Z(t, τ) = (A(t) + P (t))XP (t, τ)−A(t)X(t, τ) = A(t)Z(t, τ) + P (t)(X(t, τ) + Z(t, τ)).

�! 5!"&��� �!2� �&��&

Z(t, τ) =

∫ t

τ
X(t, s)P (s)(X(s, τ) + Z(s, τ)) ds =

=

∫ t

τ
X(t, s)P (s)X(s, τ) ds +

∫ t

τ
X(t, s)P (s)Z(s, τ) ds.

(E?,

����� 0 � t− τ � ϑ� �% "#��$���# (E?, �&��&

|Z(t, τ)| � (ϑ+ 1)pγ2 +

∫ t

τ
γ|P (s)||Z(s, τ)| ds.

� ���� $�"#��$���# ]"!$�!��#BK���&#$# �!��.#�&

|Z(t, τ)| � (ϑ + 1)pγ2 exp
(∫ t

τ
γ|P (s)| ds

)
� (ϑ + 1)pγ2eγp(ϑ+1) =: γ1.

�"!&� �!4!� �% 5!"&��
 (E?, ��� ��� "#��$���!

Z(τ, t) =

∫ τ

t
X(τ, s)P (s)(X(s, t) + Z(s, t)) ds = −

∫ t

τ
X(τ, s)P (s)(X(s, t) + Z(s, t)) ds,

�% �!�!"!4! �#�6� �
���#�� !*�$�# |Z(τ, t)| � γ1� �#��& !/"#%!&�  �+ �7/
1 t, τ �#��1� .�!
|t− τ | � ϑ� �!��.#�&

|XP (t, τ)| = |X(t, τ) + Z(t, τ)| � |X(t, τ)| + |Z(t, τ)| � γ + γ1 =: γ2.

�!$��#$�# γ2 %#����� !� ϑ� $! $� %#����� !� t � τ � 3�&&#  !�#%#$#� �
� ! � # % # � � � � � � � ! � � ! " � & 
 �� ����� �����&# (	, ϑ)"#�$!&�"$! ��!�$� ��"#)

��+�&# �! �#�&#$�� �!4 # � ���� �"� �!6�$�+ @ �
�!�$�$
 H�!'���! (d) � $�"#��$���! (	�,�
�! ��!"�&� � �
�!�$�$! ���!��� F (ϑ)� �!%�&�& �"!�%�!��$!� t0 ∈ R � x0 ∈ R

n � �!��"!�&
��"#���$�� u(t)� t ∈ Δ = [t0, t0 + ϑ]� �!�!"!� ��"��! �� "�2�$�� �����&
 �% �!��!+$�+ x(t0) =
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�� �

x0 � �!��!+$�� x(t0 + ϑ) = 0 � � !�����!"+�� !*�$�� ‖u‖L2(Δ) � l2|x0|� �!4 # �&��� &���!
�"� ��#���$�� (�,� �&��&I

sup
t∈Δ

|x(t)| � sup
t∈Δ

(
|X(t, t0)||x0|+

∫ t

t0

|X(t, s)||B(s)||u(s)| ds
)
�

� γ|x0|+ γ

∫ t0+ϑ

t0

|B(s)||u(s)| ds � γ

(
|x0|+

(∫ t0+ϑ

t0

|B(s)|2 ds
)1/2( ∫ t0+ϑ

t0

|u(s)|2 ds
)1/2

)
�

� γ(|x0|+
√

b2 · l2|x0|) = γ(1 +
√

b2 · l2)|x0| =: l3|x0|.

����� Q ∈ Lloc
2 (R,Mm,n) � �"!�%�!��$#+ 5�$�*�+ �#�#+� .�!

sup
t∈R

‖Q‖L2([t,t+1]) � q. (E�,

�!4 # ‖Q‖L2(Δ) � q
√
ϑ+ 1� �!�!6�& v(t) := −Q(t)x(t) + u(t), t ∈ Δ. �!4 #

‖v‖L2(Δ) � ‖Q‖L2(Δ) · ‖x‖C(Δ) + ‖u‖L2(Δ) � q
√
ϑ+ 1 · l3|x0|+ l2|x0| =: l4|x0|. (
�,

�&��&

ẋ(t) = A(t)x(t) +B(t)u(t) = (A(t) +B(t)Q(t))x(t) +B(t)(−Q(t)x(t) + u(t)) =

= (A(t) +B(t)Q(t))x(t) +B(t)v(t).

H�� !�#����$!� x(·) � =�! "�2�$�� �����&
 (��, �"� u = v(·)� � !�����!"+70�� ���!��+&
x(t0) = x0� x(t0 + ϑ) = 0� �#��& !/"#%!&� � ���� $�"#��$���# (
�,  �+ �����&
 (��, �
�!�$�$!
��!'���! F (ϑ)� <#&���& ����"�� .�! ���!��� (	�, �
�!�$�$!� �!4 # �% $�"#��$���# (E�, � ���!)
��+ (	�, ��� ���� .�! &#�"�*# B(·)Q(·) �$��4"#��$! !4"#$�.�$#� �"�&�$�& ��&&� ?� �!��.�&�
.�!  �+ &#�"�*
 �!2� �����&


ẋ = (A(t) +B(t)Q(t))x (
	,

�
�!�$�$! H�!'���! (d)� ����"� �"�&�$�& ��!"�&� ? � �����&� (��,� �!��.#�&� .�! �����&# (��,
ϑ)"#�$!&�"$! ��!�$� ��"#��+�&# �! �#�&#$�� ��!"�&# �  !�#%#$#� �

� ! � # % # � � � � � � � ! � � ! " � & 
 		� ����� ‖B‖C(R) � b� sup
t∈R

‖Q‖L1([t,t+1]) � q

� �����&# ϑ)"#�$!&�"$! ��!�$� ��"#��+�&# � �&
��� !�"� ���$�+ E� �!4 # �
�!�$�$! $�"#)
��$���! ‖Q‖L1([τ,τ+ϑ]) � q(ϑ + 1)  �+ �7/!4! τ ∈ R- �
�!�$�$
 $�"#��$���# (@�,� (E�,- &#�)
"�*# P (t) := B(t)Q(t) �$��4"#��$! !4"#$�.�$#� � ���� �"� �!6�$�+ E  �+ &#�"�*
 �!)
2� X(t, s) �����&
 ẋ = A(t)x �
�!�$�$! H�!'���! (d)� H�� !�#����$!� �! ��&&� ?  �+
&#�"�*
 �!2� XP (t, s) �����&
 (
	, �#�6� �
�!�$�$! H�!'���! (d) � $��!�!"!' �!$��#$)
�!' γ2 = γ2(ϑ)� >#��&!�"�& 5�$�*�7 Z(t, s) = XP (t, s) − X(t, s)� �% 5!"&��
 (E?, �&��&

Z(t, s) =

∫ t

s
X(t, ζ)P (ζ)XP (ζ, s) dζ� H�� !�#����$!�

X(τ, s) = XP (τ, s)− Z(τ, s) = XP (τ, s) +

∫ s

τ
X(τ, ζ)B(ζ)Q(ζ)XP (ζ, s) dζ.

����� %# #$
 �7/!� .���! τ ∈ R � ����!" h ∈ R
n �#�!'� .�! |h| = 1� � ����� s ∈ [τ, τ + ϑ]�

�!4 #

|hTX(τ, s)B(s)| = |hTXP (τ, s)B(s) +

∫ s

τ
hTX(τ, ζ)B(ζ)Q(ζ)XP (ζ, s) dζ ·B(s)| �

� |hTXP (τ, s)B(s)|+
∫ s

τ
|hTX(τ, ζ)B(ζ)| · |Q(ζ)| · |XP (ζ, s)| dζ · |B(s)| � (
�,

� |hTXP (τ, s)B(s)|+ γ2b

∫ s

τ
|hTX(τ, ζ)B(ζ)| · |Q(ζ)| dζ.
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�"�&�$�& ��&&� ]"!$�!��#BK���&#$# A@�� �� 	�?C � 5�$�*�� g(s) = |hTX(τ, s)B(s)|� �!4 # �%
$�"#��$���# (
�, �!��.#�& $�"#��$���!

|hTX(τ, s)B(s)| � |hTXP (τ, s)B(s)| exp
(
γ2b

∫ s

τ
|Q(ζ)| dζ

)
� |hTXP (τ, s)B(s)|eγ2b(ϑ+1)q.

H�� !�#����$!�

β1 �
∫ τ+ϑ

τ
|hTX(τ, s)B(s)| ds �

∫ τ+ϑ

τ
|hTXP (τ, s)B(s)|eγ2b(ϑ+1)q ds.

D��7 # �!��.#�&� .�!

∫ τ+ϑ

τ
|hTXP (τ, s)B(s)| ds � β1e

−γ2b(ϑ+1)q =: β′
1 > 0� �#����

∫ τ+ϑ

τ
|hTXP (τ, s)B(s)| ds � γ2bϑ =: β′

2,

∫ τ+ϑ

τ
|hTXP (τ + ϑ, s)B(s)| ds � γ2bϑ =: β′

4,∫ τ+ϑ

τ
|hTXP (τ + ϑ, s)B(s)| ds � β′

1|XT
P (τ + ϑ, τ)h| � β′

1γ
−1
2 =: β′

4.

�#��& !/"#%!&� $�"#��$���# �� # (@�,� (E�, �
�!�$�$
  �+ �����&
 (��,� ��� !�#����$!� !$#
+��+���+ ϑ)"#�$!&�"$! ��!�$� ��"#��+�&!' � �&
��� !�"� ���$�+ (E,� ��!"�&# 		  !�#%#$#� �
� +� � !�"#��� � �"�� � %�� !���#"&�5 ��99����:� �5�";" %� !�����

>#��&!�"�& �����&� ��"#���$�+� �!�!"#+ !���
�#���+ ��$�'$
&  �55�"�$*�#��$
& �"#�)
$�$��& n)4! �!"+ �#I

z(n) + a1(t)z
(n−1) + . . .+ an(t)z = u, z ∈ R, u ∈ R. (
@,

H����&# (
@, =����#��$�$# ��"#��+�&!' �����&� (	,� 4 �

A(t) =

∥∥∥∥∥∥∥∥∥∥

0 1 0 . . . 0
0 0 1 . . . 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
0 0 0 . . . 1

−an(t) −an−1(t) −an−2(t) . . . −a1(t)

∥∥∥∥∥∥∥∥∥∥
, B(t) =

∥∥∥∥∥∥∥∥∥∥∥

0
0
���
0
1

∥∥∥∥∥∥∥∥∥∥∥
. (
E,

F����#��$�$!��� %# #���+ "#��$���#&� z = x1� ż = x2� � � � � z
(n−1) = xn� �"#�$�$�� (
@, $#%
)

�#���+ (ϑ �	��������) ������ ���	��
����� ���� �����&# (	,� (
E, !/�# #�� =��& ��!'���!&�
����� aj(t) ≡ 0� j = 1, n� �!4 # (	,� (
E, � =�! ��#*�!$#"$#+ �����&#

ẋ = Ax+Bu, x ∈ R
n, u ∈ R

m, (

,

A = J, B = en, (
�,

4 � J � ��"�
' � �$�.$
' �!�!' "+ � H�#*�!$#"$#+ �����&# (

, ��!�$� ��"#��+�&# �!4 #
� �!���! �!4 #� �!4 # rank[B,AB, . . . , An−1B] = n� ���� ��#*�!$#"$#+ �����&# (

, ��!�$�
��"#��+�&#� �! !$# ϑ)"#�$!&�"$! ��!�$� ��"#��+�&#  �+ �7/!4! ϑ� D.��� $!� .�! �����&#
(

,� (
�, ��!�$� ��"#��+�&#�

����� ����"� aj(t) 
≡ 0� ���� �!=55�*��$�
 aj(·) ���!.$!)$��"�"
�$
� � !4"#$�.�$$
��
�! "#�$!&�"$#+ �!�$#+ ��"#��+�&!��� �����&
 (	,� (
E, �
���#��� $#�"�&�"� �% ��!"�&
 
��
A?C H�;� �!�!�!'� ���!��%�+ "�%����#�
 MM 	� �� &!6$! !��#/��� ���!��+ $# �!=55�*��$�
�
H�"#�� ���# ��� �70#+ ��!"�&#�

��"��# �*� !��
� ���((�����
� aj(·)$ j = 1, n$ �	
���� (
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